
Porovná ní  vlástností  vodí ku á kyslí ku 

 

 

 

        

        
 

 

 

 

 

 

 

 

 

  

  Nehoří, ale hoření 

podporuje 
Hoří, ale hoření 

nepodporuje 

Příprava 

2H2+O22H2O 

Hoření 

Elektrolýza 

2H2O2H2+O2 

2Cu+O22CuO 

Tepelný         rozklad 

CuO+H2Cu+H20 

 

1.) ROVNICE – VODÍK 
1.) 2Al + 2NaOH + 6H2O  2Na [Al(OH)4] + 3H2O 

2.) Zn + 2HCl  ZnCl2 + H2 

 

Redukční činidlo 

 

VODÍK 

1s
1
 

b.b. PLYN, bez zápachu 

KYSLÍK

2s
2
2p

4
 

Oxidační 

činidlo 

.) ROVNICE- KYSLÍK 

 3.) 2H2O2            2H2O + O2 

4.) 2KNO3         2KNO2 + O2   (C + O2     CO2) 

5.) 2KClO3       2KCl + 3O2   (C12H22O11+11O2     12CO2+11H2O) 

6.) 2KMnO4      K2MnO4 + MnO2 + O2 

    (4Al+3O2       2Al2O3, S + O2       SO2) 

7.) 2Mg+O2         2MgO 

Katalyzátor 

H2O2 KNO3 KMnO4 Kov + Zásada* Kov + Kyselina 

Hydridy 

Vzájemné 

    reakce 

 2.) ROVNICE - KYSLÍK 

Redukce 

2H
+
+2ēH2 

Příprava 

Oxidace 

2O
-II 
O2+4ē 

           =lehčí než vzduch 

Vlastnosti Vlastnosti 

    =těžší 

     než vzduch 

b.b. PLYN, bez zápachu 

    

KClO3 

 

 

Oxidy 

(Schéma!) 


